



St. Louis County, Minnesota

Date of Report: 12/14/2025 11:28:09 AM

General Details

Parcel ID: 380-0010-02260

**Legal Description Details** 

Plat Name: GRAND LAKE

SectionTownshipRangeLotBlock115116--

**Description:** SW 1/4 OF NE 1/4 EX THAT PART SUBJECT TO FLOWAGE RIGHTS

**Taxpayer Details** 

Taxpayer Name NORTHEAST REGIONAL CORRECTION CNTR

and Address: 6102 ABRAHAMSON RD SAGINAW MN 55779

Owner Details

Owner Name NORTHEAST REGIONAL CORRECTION CNTR

Payable 2025 Tax Summary

2025 - Net Tax \$0.00

2025 - Special Assessments \$0.00

2025 - Total Tax & Special Assessments \$0.00

**Current Tax Due (as of 12/13/2025)** 

Due May 15		Due		Total Due	
2025 - 1st Half Tax	\$0.00	2025 - 2nd Half Tax	\$0.00	2025 - 1st Half Tax Due	\$0.00
2025 - 1st Half Tax Paid	\$0.00	2025 - 2nd Half Tax Paid	\$0.00	2025 - 2nd Half Tax Due	\$0.00
2025 - 1st Half Due	\$0.00	2025 - 2nd Half Due	\$0.00	2025 - Total Due	\$0.00

#### **Parcel Details**

Property Address: 6102 ABRAHAMSON RD, SAGINAW MN

School District: 704

Tax Increment District: 
Property/Homesteader: -

Assessment Details (	2025 Pa	yable 2026)
----------------------	---------	-------------

Class Code (Legend)	Homestead Status	Land EMV	Bldg EMV	Total EMV	Def Land EMV	Def Bldg EMV	Net Tax Capacity
780	0 - Non Homestead	\$148,700	\$14,868,100	\$15,016,800	\$0	\$0	-
	Total:	\$148,700	\$14,868,100	\$15,016,800	\$0	\$0	0

#### **Land Details**

 Deeded Acres:
 22.00

 Waterfront:

 Water Front Feet:
 0.00

Water Code & Desc: W - DRILLED WELL

Gas Code & Desc:

Sewer Code & Desc: S - ON-SITE SANITARY SYSTEM

**Lot Width:** 0.00 **Lot Depth:** 0.00

The dimensions shown are not guaranteed to be survey quality. Additional lot information can be found at

https://apps.stlouiscountymn.gov/webPlatsIframe/frmPlatStatPopUp.aspx. If there are any questions, please email PropertyTax@stlouiscountymn.gov.





St. Louis County, Minnesota

Date of Report: 12/14/2025 11:28:09 AM

**Land Details** 

Deeded Acres: 22.00 Waterfront: Water Front Feet: 0.00

W - DRILLED WELL Water Code & Desc:

Gas Code & Desc:

Sewer Code & Desc: H - HOLDING TANK

Lot Width: 0.00 Lot Depth: 0.00

 · Dopuii	0.00					
e dimensions shown are nos://apps.stlouiscountymn.					ound at ns, please email PropertyTa	ax@stlouiscountymn.gov.
	I	mproveme	nt 1 Deta	ils (MAINDORM)	ΓR)	
Improvement Type	Year Built	Main Flo	or Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.
JAIL	1930	25,0	84	35,826	-	COR - CORR FACIL
Segment	Story	Width	Length	Area	Foundati	ion
BAS	1	0	0	2,459	FOUNDAT	TON
BAS	1	0	0	11,586	FOUNDAT	TON
BAS	1	7	21	147	FOUNDAT	TON
BAS	1	10	15	150	FOUNDAT	TON
BAS	2	0	0	10,742	FOUNDAT	TION
ВМТ	1	0	0	1,345	FOUNDAT	TION
		Improve	ment 2 D	etails (OFFICE)		
Improvement Type	Year Built	Main Flo	or Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.
OFFICE	1997	8,40	9	8,409	-	-
Segment	Story	Width	Length	Area	Foundati	ion
BAS	1	0	0	8,409	FOUNDAT	TION
		Improveme	ent 3 Deta	ails (48X94 SHO	P)	
Improvement Type	Year Built	Main Flo	or Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.
AUTO SERVICE	1987	4.51	2	4.512	-	-

			Improveme	ent 3 Det	ails (48X94 SHO	P)	
ı	mprovement Type	Year Built	Main Flo	or Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	<b>Basement Finish</b>	Style Code & Desc.
	AUTO SERVICE	1987	4,51	2	4,512	-	-
	Segment	Story	Width	Length	n Area	Foundat	ion
	BAS	1	48	94	4,512	FLOATING	SLAB

			Improveme	ent 4 Deta	ails (30X96 SHE	))	
ı	mprovement Type	Year Built	Main Flo	or Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	<b>Basement Finish</b>	Style Code & Desc.
	GARAGE	1995	2,88	30	2,880	-	DETACHED
	Segment	Story	Width	Length	Area	Foundati	ion
	BAS	1	30	96	2,880	FLOATING	SLAB

			Impro	vement 5	5 Details (#4)		
ı	mprovement Type	Year Built	Main Flo	or Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	<b>Basement Finish</b>	Style Code & Desc.
	POLE BUILDING	1985	960	0	960	-	-
	Segment	Story	Width	Length	Area	Foundati	on
	BAS	1	24	40	960	FOUNDAT	ION





St. Louis County, Minnesota

Date of Report: 12/14/2025 11:28:09 AM

		Improvem	ant 6 Dataila ///	IOODEHED)			
Improvement Type	Year Built	-	ent 6 Details (W	•	ment Finish	Style C	ode & Desc.
POLE BUILDING	1985	24		40	-	Otyle O	- -
Segmen			Length	Area	Foundation	)	
BAS	1	12	20	240	POST ON GRO	UND	
		Improvem	ent 7 Details (#2	POIL DER			
Improvement Type	Year Built	•	•	•	ment Finish	Style C	ode & Desc.
UTILITY	0	72		20	-	•	QUIP SHED
Segmen	t Story	y Width	Length	Area	Foundation		
BAS	1	20	36	720	FOUNDATIO	N	
		Improve	ment 8 Details (	16X16   T)			
Improvement Type	Year Built	-	•	•	ment Finish	Style C	ode & Desc.
LEAN TO	2005	25		256	-	,	-
Segmen	t Stor	y Width	Length	Area	Foundation		
BAS	1	16	16	256	POST ON GROUND		
		Sales Reported	to the St. Louis	S County Auditor			
No Sales informati	on reported.	A	ssessment Hist	ory			
Year	Class Code (Legend)	Land EMV	Bldg EMV	Total	Def Land	Def	
			□IVI V	EMV	EMV	Bldg EMV	Net Tax Capacity
	780	\$147,200	\$15,170,300	<b>EMV</b> \$15,317,500	<b>EMV</b> \$0		
2024 Payable 2025	780	\$147,200 <b>\$147,200</b>				EMV	
2024 Payable 2025			\$15,170,300	\$15,317,500	\$0	<b>\$</b> 0	Capacity -
,	Total	\$147,200	\$15,170,300 <b>\$15,170,300</b>	\$15,317,500 <b>\$15,317,500</b>	\$0 <b>\$0</b>	\$0 \$0	Capacity - 0.00
,	Total	<b>\$147,200</b> \$113,200	\$15,170,300 <b>\$15,170,300</b> \$11,365,700	\$15,317,500 <b>\$15,317,500</b> \$11,478,900	\$0 <b>\$0</b> \$0	\$0 <b>\$0</b> <b>\$0</b>	Capacity - 0.00
2024 Payable 2025 2023 Payable 2024 2022 Payable 2023	Total 780 Total	\$147,200 \$113,200 \$113,200	\$15,170,300 \$15,170,300 \$11,365,700 \$11,365,700	\$15,317,500 <b>\$15,317,500</b> \$11,478,900 <b>\$11,478,900</b>	\$0 \$0 \$0 \$0	\$0 \$0 \$0 \$0	Capacity - 0.00
2023 Payable 2024	780 Total 780	\$147,200 \$113,200 \$113,200 \$72,900	\$15,170,300 \$15,170,300 \$11,365,700 \$11,365,700 \$3,324,700 \$3,324,700	\$15,317,500 \$15,317,500 \$11,478,900 \$11,478,900 \$3,397,600 \$3,397,600	\$0 \$0 \$0 \$0 \$0 \$0	\$0 \$0 \$0 \$0 \$0 \$0	Capacity - 0.00 - 0.00
2023 Payable 2024	780 Total 780 Total 780 Total 780	\$147,200 \$113,200 \$113,200 \$72,900 \$72,900 \$69,000	\$15,170,300 \$15,170,300 \$11,365,700 \$11,365,700 \$3,324,700 \$3,324,700 \$2,816,200	\$15,317,500 \$15,317,500 \$11,478,900 \$11,478,900 \$3,397,600 \$3,397,600 \$2,885,200	\$0 \$0 \$0 \$0 \$0 \$0 \$0	\$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0	Capacity - 0.00 - 0.00 - 0.00 0.00
2023 Payable 2024 2022 Payable 2023	Total 780 Total 780 Total	\$147,200 \$113,200 \$113,200 \$72,900 \$72,900 \$69,000	\$15,170,300 \$15,170,300 \$11,365,700 \$11,365,700 \$3,324,700 \$3,324,700 \$2,816,200 \$2,816,200	\$15,317,500 \$15,317,500 \$11,478,900 \$11,478,900 \$3,397,600 \$2,885,200 \$2,885,200	\$0 \$0 \$0 \$0 \$0 \$0	\$0 \$0 \$0 \$0 \$0 \$0	Capacity - 0.00 - 0.00 - 0.00
2023 Payable 2024 2022 Payable 2023	780 Total 780 Total 780 Total 780	\$147,200 \$113,200 \$113,200 \$72,900 \$72,900 \$69,000	\$15,170,300 \$15,170,300 \$11,365,700 \$11,365,700 \$3,324,700 \$3,324,700 \$2,816,200	\$15,317,500 \$15,317,500 \$11,478,900 \$11,478,900 \$3,397,600 \$2,885,200 \$2,885,200	\$0 \$0 \$0 \$0 \$0 \$0 \$0	\$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0	Capacity - 0.00 - 0.00 - 0.00 0.00
2023 Payable 2024 2022 Payable 2023 2021 Payable 2022	Total 780 Total 780 Total 780 Total 780	\$147,200 \$113,200 \$113,200 \$72,900 \$72,900 \$69,000 \$69,000	\$15,170,300 \$15,170,300 \$11,365,700 \$11,365,700 \$3,324,700 \$3,324,700 \$2,816,200 \$2,816,200 Total Tax & Special	\$15,317,500 \$15,317,500 \$11,478,900 \$11,478,900 \$3,397,600 \$2,885,200 \$2,885,200 ry	\$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0	\$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0	Capacity
2023 Payable 2024 2022 Payable 2023 2021 Payable 2022  Tax Year	Total 780 Total 780 Total 780 Total 780 Total	\$147,200 \$113,200 \$113,200 \$72,900 \$72,900 \$69,000 \$69,000	\$15,170,300 \$15,170,300 \$11,365,700 \$11,365,700 \$3,324,700 \$2,816,200 \$2,816,200 Tax Detail Histo Total Tax & Special Assessments	\$15,317,500 \$15,317,500 \$11,478,900 \$11,478,900 \$3,397,600 \$2,885,200 \$2,885,200 ry	\$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0	\$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0	Capacity - 0.00 - 0.00 - 0.00 - 0.00 - 1 Taxable MV





St. Louis County, Minnesota

Date of Report: 12/14/2025 11:28:09 AM

Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.